:(\

Averages from Grouped Tables

1 (@

1 (b)

REVISE THIS

TOPIC

The table shows information about the heights of 25 students.

Height,h cm) |  Frequency

130 <h < 140 3 x 1S 405
140 <h < 150 15 x \4S 235
150 < h < 160 6 x |S9S Q20
160 <h <170 1 x | 6S \65

15 2635

Write down the modal class.

e |40 L. 150

[1 mark]

Work out an estimate for the mean height of the students. [3 marks]

26 S -16= \&F

\%3- -

1stcl th
www. 1stclassmaths.com © 1stclassmaths oy r@ @1stclassmaths
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2

62
\¢0
el
490

2 (a)

2 (b)

2 (c)

The table shows information about the masses of 400 apples.

Answer

LLO

<ms

Work out an estimate for the mean mass of the apples.

L2630 + 400 =

Answer

Which interval contains the median?
You must show your working.

4Ooo+\ =40\
ko= = 200-5M

Answer

www. 1stclassmaths.com

LD ...

© 1stclassmaths

\0q. 2L

Mass, m (grams) Frequency
70 <m<90 62 ¥ 80 ‘\-‘160
90 <m <110 118 * (©0O \\8OO
110 <m <130 194 * (20 ?_3 230
130 <m < 150 26 % Y0 3"“&)0
4«00 436280
Write down the modal class. [1 mark]

\& 0

[3 marks]

\O0A4- 1

grams

[2 marks]

130
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3

I
1S

52
\0O

3 (a)

3 (b)

3 (c)

3

The table shows information about the speeds of some cars on a road.

Answer

60

Work out an estimate for the mean speed of the cars.

<S=<

SRLO = \00

Answer

Answer

www. 1stclassmaths.com

Which interval contains the median?
You must show your working.

100 + )= O\
O\ = 1=So-5“‘

SO

5% L

<S§=<

© 1stclassmaths

6O

Speed, s (mph) | Frequency
30 <5 <40 1 x 15 S
40<s<50 14 X (+ S 6 30
50 <5< 60 37 x §S 20395
60<s<70 8 x 65 2120
(00 "S8120
Write down the modal class. [1 mark]

+0

[3 marks]

mph

[2 marks]

Turn over »
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4
4 The table shows information about the weekly pay of some workers.
Weekly Pay, (Ew) |  Frequency
|2 | 400 <w=500 12 x 4SO S4H0
2% | 500<w<600 11 x S50 605 0
29 | 600<w=700 6 x 650 3900
Ul | 700<ws800 5 x FSO 1350
15 | 800<ws<900 1 X RS 0 <SS 0
5 laqso
4 (@) Write down the modal class. [1 mark]

Answer Ll' OO <W< SOO

4 (b)  Work out an estimate for the mean weekly pay for the workers. [3 marks]

|A2AS0 = 35S

Answer £ S q— O

4 (c) Which interval contains the median?
You must show your working.

2S+\ =36
G+L= \Qt

[2 marks]

Answer 5 OO <W< 600

www.1stclassmaths.com © 1stclassmaths
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5

5 The table shows information about the race times of 50 runners.
Time, t (minutes) |  Frequency

A 15<t<16 6 x |S-S 9
lé 16 <t<17 10 x \b-5 |6 S
26 17<t<18 10 x \3F-9 |3 S
LF | 1s<tsto 21 X (8-S 3885
SO 19 <t<20 3 X 19-S S¢S

50 %0

5 (a)  Write down the modal class. [1 mark]
Answer \ ? <ts \ q

5 (b) Work out an estimate for the mean race time of the runners.
Give your answer in minutes and second.

880 - S0 = |36
O:-6 x 60 = L6 sewnds

[4 marks]

Answer \Q’ minutes‘SQ seconds

5 (¢) Which interval contains the median?
You must show your working.

S0+) = 5|
S| +2=15 -5t

oo Vo S

[2 marks]

Turn over »
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6

o P I g

L\

6 (a)

6 (b)

6 (c)

www. 1stclassmaths.com

6

The table shows information about the distances jumped by 11 athletes.

e d | ey

4<d<45 6 x 4-1S 15-S
45<d<5 1 A L\-:}S Lk’+5
5<d<5.5 2 X S-128 |0-S
55<d<6 2 * S-38 (195

| ) 1L:-15

Write down the modal class. [1 mark]
Answer L‘- <ds L\' S
Work out an estimate for the mean distance jumped.
Give your answer in centimetres. [3 marks]
&3S x 00 = 43S
Answer L\-_“— S cm
Which interval contains the median?
You must show your working. [2 marks]

N+\ =1L "
1L+ =6

Answer L\' L\' ' S

<ds<

© 1stclassmaths
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6 (d)

6 (e)

Two more athletes jump and their distances are recorded.
Both athletes jump more than 4.5 metres.

The results for the two extra athletes are added to the table.

How will the two extra athletes affect your answers to parts (a), (b) and (c).

For each statement below tick one box. [3 marks]
Remains Changes Not possible

the same

to tell
Part (a) The modal class /
Part (b) The estimate of \/
the mean
Part (c) The interval \/

containing the median

Mo says: “The range of the jumps is 1.5 metres as 5.75— 4.25 = 1.5"

Explain why Mo may not be correct. [1 mark]

We don't know the ac g,l drstances
Mo has dust used, Yne mi wnd?om\:s
buk, the wox (owld be SR and
owin &) fof examele .

Turn over »
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